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Direction:
Sentences of a paragraph are given below in jumbled order.

Arrangethe sentencesin the correct order to form a meaningful and coherent paragraph.
e Question No.1

A. He wondered why she had contacted him now.

B. They were mature adults now - very different people from the youngsters of years ago.

C. On the one hand, he was curious to see her again; on the other hand, he was not sure if Ellen was the same as he

had known in the past.
D. As Sunday approached, George re-read Ellen's e-mail several times.
Options:

1. ABDC
2.DACB
3.CADB
4.BCAD

5.

Answer : DACB

¢ Question No.2
Choose the word that is opposite in meaning to the bold word.
The actor came to the function with disheveled hair.
Options:

1. rumpled
2. slovenly
3. tidy

4. messy
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Answer : tidy

Question No. 3

Select the most appropriate synonym of the bold word in the given sentence.
They have a reputation of being neitherindustrious nor intelligent.

Options:

1. Tolerant
2. Arrogant
3. Diligent
4. Negligent

5.

Answer : Diligent

Question No. 4

Select the most appropriate option that can substitute thebold segment in the given sentence. If there is no need

to substitute it, select ‘No substitution’”.
She is junior with me by three years.
Options:

1. than
2. No substitution
3.to

4. from

Answer : to
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e Question No. 5

Select the most appropriate option that can substitute thebold segment in the given sentence. If there is no need

to substitute it, select ‘No substitution’.
She had briefly reached the finish line when she twisted her ankle.
Options:

1. almost

2.soon

3. No substitution
4. mostly

5.

Answer : almost

e Question No. 6
Select the correct ANTONYM of the given word.
Dissent
Options:

1. Succumb
2. Accede
3.Infer

4. Retrieve

5.
Answer : Accede

Direction:

Parts of a sentence are given below in jumbled order. Arrangethe partsin the correct order to form a meaningful
sentence.

e Question No.7
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A. heat waves occurring over many regions
B. there is a high probability of

C. from March to May

D. of central and adjoining northwest India
Options:

1. BADC
2.CDBA
3. BCDA
4. CADB

5.
Answer : BADC

Direction:
Select the most appropriate option tofill in the blanks.

e Question No. 8

One day, a spider was weaving his web while the wind was playinga_________ . Every time the wind would knock

the spider down, he would get up and startagain_________ . He fell many times but the wind couldn’t stop him

from climbing back again.
Options:

1. spoilsport, undeterred
2. crisis, unmoved

3. truant, discouraged

4. havoc, depressed

5.

Answer : spoilsport, undeterred

e Question No.9
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Select the most appropriate meaning of the given proverb.
To cast pearl before swine
Options:

1. To offer something valuable to someone who does not understand its value
2. To give something precious to someone

3. To offer something to a deserving candidate

4. To not understand the value of a honest person

5.

Answer : To offer something valuable to someone who does not understand its value

e Question No. 10
What does ‘the ball is in your court” mean?
Options:

1. The decision is up to you

2. The secret has been revealed to you

3. Something valuable is in your possession
4. You have to struggle to achieve your goals

5.
Answer : The decision is up to you

Direction:
Select the most appropriate option tofill in the blanks.

e Question No. 1

Renie was for her sportsmanship. Renie’s spirit was celebrated by everyone, even by the boys who had

teased her. Renie herself to never get affected by anyone’s comments.

Options:
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1. challenged, decided

2. ridiculed, agreed

3. encouraged, assured
4. appreciated, promised

5.

Answer : appreciated, promised

Question No. 12
Select the option that correctly spells the misspelt word in the sentence.

Beatrice is one of the most delightful and talkitive characters of Shakespeare who often speaks her mind without

concern about decorum.
Options:

1. decoram
2. charactors
3. talkative
4. deliteful

D;

Answer : talkative

Question No. 13

Select the option that can be used as a one-word substitute for the given group of words.
One who makes maps

Options:

1. Calligrapher
2. Choreographer
3. Curator

4. Cartographer



Answer : Cartographer

e Question No. 14
Select the correctly spelt word.
Options:

1. Eclesiastical
2. Ecclesiastical
3. Esclesiastical
4. Ecclesiastial

5.

Answer : Ecclesiastical

e Question No.15

Select the most appropriate option that can substitute thebold segment in the given sentence.
| make sure that | take my medicines at uniform intervals of time
Options:

1. usually

2. commonly
3. gradually
4. reqularly

5.

Answer : regularly

e Question No. 16

Select the option that can be used as a one-word substitute for the given group of words.

ixam

0(6
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A person whose job is to drive people around in a car
Options:

1. Chauffeur
2. Operator
3. Hacker

4. Motorist

5.
Answer : Chauffeur

Direction:

Read the following infor mation car efully and answer the given questions.

Vedas, meaning “knowledge,” were written in Vedic Sanskrit between 1500 and 500 BCE in the northwestern region
the Indian Subcontinent. The Vedas were transmitted orally during the course of numerous subsequent generations
before finally being archived in written form. Not much is known about the authors of the Vedas, as the focus is
placed on the ideas found in Vedic tradition rather than those who originated the ideas. The oldest of the texts is
the Rig Veda, and while it is not possible to establish precise dates for each of the ancient texts, it is believed the

collection was completed by the end of the 2nd millennium BCE (Before Common Era).

There are four Indo-Aryan Vedas: the Rig Veda contains hymns about their mythology; the Sama Veda consists
mainly of hymns about religious rituals; the Yajur Veda contains instructions for religious rituals; and the Atharva
Veda consists of spells against enemies, sorcerers, and diseases. (Depending on the source consulted, these are

spelled, for example, either Rig Veda or Rigveda.)

The Rig Veda is the largest and considered the most important of the collection, containing 1,028 hymns divided
into 10 books called mandalas. The verses of the Sam Veda are taken almost completely from the Rig Veda, but
arranged differently so they may be chanted. The Yajur Veda is divided into the White and Black halves and
contains prose commentaries on how religious and sacrifices should be performed. The Atharva Veda includes

charms and magic incantations written in the style of folklore.

Each Veda was further divided in two sections: the Brahmanas, instructions for religious rituals, and the Sambhitas,
mantras or hymns in praise of various deities. Modern linguists consider the metrical hymns of the Rigveda Samhita,
the most ancient layer of text in the Vedas, to have been composed by many authors over several centuries of oral

tradition.
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Although the focus of the Vedas is on the message rather than the messengers, such as Buddha or Jesus Christ in

their respective religions, the Vedic religion still held gods in high regard.

The Aryan pantheon of gods is described in great detail in the Rig Veda. However, the religious practices and deities
are not uniformly consistent in these sacred texts, probably because the Aryans themselves were not a
homogenous group. While spreading through the Indian Subcontinent, it is probable that their initial religious

beliefs and practices were shaped by the absorption of local religious traditions.

According to the hymns of the Rig Veda, the most important deities were Agni, the god of Fire, intermediary
between the gods and humans; Indra, the god of Heavens and War, protector of the Aryans against their enemies;

Surya, the Sun god; Vayu, the god of Wind; and Prthivi, the goddess of Earth.

Question No. 17
According to the passage, which of the following statements is correct?
Options:

1. The main focus has always been on who originated these Vedas.

2. The focus of the Vedas is on the message rather than the messengers.
3. The verses of the Rig Veda are taken from Sama Veda.

4. The Vedas were first transmitted in the written form.

5.
Answer : The focus of the Vedas is on the message rather than the messengers.

Direction:

Read the following infor mation car efully and answer the given questions.

Vedas, meaning “knowledge,” were written in Vedic Sanskrit between 1500 and 500 BCE in the northwestern region
the Indian Subcontinent. The Vedas were transmitted orally during the course of numerous subsequent generations
before finally being archived in written form. Not much is known about the authors of the Vedas, as the focus is
placed on the ideas found in Vedic tradition rather than those who originated the ideas. The oldest of the texts is
the Rig Veda, and while it is not possible to establish precise dates for each of the ancient texts, it is believed the

collection was completed by the end of the 2nd millennium BCE (Before Common Era).
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There are four Indo-Aryan Vedas: the Rig Veda contains hymns about their mythology; the Sama Veda consists
mainly of hymns about religious rituals; the Yajur Veda contains instructions for religious rituals; and the Atharva
Veda consists of spells against enemies, sorcerers, and diseases. (Depending on the source consulted, these are

spelled, for example, either Rig Veda or Rigveda.)

The Rig Veda is the largest and considered the most important of the collection, containing 1,028 hymns divided
into 10 books called mandalas. The verses of the Sam Veda are taken almost completely from the Rig Veda, but
arranged differently so they may be chanted. The Yajur Veda is divided into the White and Black halves and
contains prose commentaries on how religious and sacrifices should be performed. The Atharva Veda includes

charms and magic incantations written in the style of folklore.

Each Veda was further divided in two sections: the Brahmanas, instructions for religious rituals, and the Sambhitas,
mantras or hymns in praise of various deities. Modern linguists consider the metrical hymns of the Rigveda Samhita,
the most ancient layer of text in the Vedas, to have been composed by many authors over several centuries of oral

tradition.

Although the focus of the Vedas is on the message rather than the messengers, such as Buddha or Jesus Christ in

their respective religions, the Vedic religion still held gods in high regard.

The Aryan pantheon of gods is described in great detail in the Rig Veda. However, the religious practices and deities
are not uniformly consistent in these sacred texts, probably because the Aryans themselves were not a
homogenous group. While spreading through the Indian Subcontinent, it is probable that their initial religious

beliefs and practices were shaped by the absorption of local religious traditions.

According to the hymns of the Rig Veda, the most important deities were Agni, the god of Fire, intermediary
between the gods and humans; Indra, the god of Heavens and War, protector of the Aryans against their enemies;
Surya, the Sun god; Vayu, the god of Wind; and Prthivi, the goddess of Earth.

Question No. 18

All the given statements regarding Rig Veda is correct EXCEPT:

Options:

1. It is divided into 10 books called mandalas.

2. The Rig Veda is considered to be the most important collection of hymns.
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3. It is not possible to establish the precise date of its origin..
4.1t is divided into the White and Black halves.

5.
Answer : It is divided into the White and Black halves.

Direction:

Read the following infor mation car efully and answer the given questions.

Vedas, meaning “knowledge,” were written in Vedic Sanskrit between 1500 and 500 BCE in the northwestern region
the Indian Subcontinent. The Vedas were transmitted orally during the course of numerous subsequent generations
before finally being archived in written form. Not much is known about the authors of the Vedas, as the focus is
placed on the ideas found in Vedic tradition rather than those who originated the ideas. The oldest of the texts is
the Rig Veda, and while it is not possible to establish precise dates for each of the ancient texts, it is believed the

collection was completed by the end of the 2nd millennium BCE (Before Common Era).

There are four Indo-Aryan Vedas: the Rig Veda contains hymns about their mythology; the Sama Veda consists
mainly of hymns about religious rituals; the Yajur Veda contains instructions for religious rituals; and the Atharva
Veda consists of spells against enemies, sorcerers, and diseases. (Depending on the source consulted, these are

spelled, for example, either Rig Veda or Rigveda.)

The Rig Veda is the largest and considered the most important of the collection, containing 1,028 hymns divided
into 10 books called mandalas. The verses of the Sam Veda are taken almost completely from the Rig Veda, but
arranged differently so they may be chanted. The Yajur Veda is divided into the White and Black halves and
contains prose commentaries on how religious and sacrifices should be performed. The Atharva Veda includes

charms and magic incantations written in the style of folklore.

Each Veda was further divided in two sections: the Brahmanas, instructions for religious rituals, and the Sambhitas,
mantras or hymns in praise of various deities. Modern linguists consider the metrical hymns of the Rigveda Samhita,
the most ancient layer of text in the Vedas, to have been composed by many authors over several centuries of oral

tradition.

Although the focus of the Vedas is on the message rather than the messengers, such as Buddha or Jesus Christ in

their respective religions, the Vedic religion still held gods in high regard.

The Aryan pantheon of gods is described in great detail in the Rig Veda. However, the religious practices and deities

are not uniformly consistent in these sacred texts, probably because the Aryans themselves were not a
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homogenous group. While spreading through the Indian Subcontinent, it is probable that their initial religious

beliefs and practices were shaped by the absorption of local religious traditions.

According to the hymns of the Rig Veda, the most important deities were Agni, the god of Fire, intermediary
between the gods and humans; Indra, the god of Heavens and War, protector of the Aryans against their enemies;

Surya, the Sun god; Vayu, the god of Wind; and Prthivi, the goddess of Earth.

Question No. 19
What is the synonym of the word-‘ancient’ as used in the passage?
Options:

1. Juvenile

2. Unfamiliar
3. Venerable
4. Minor

5.
Answer : Venerable

Direction:

Read the following information car efully and answer the given questions.

Vedas, meaning “knowledge,” were written in Vedic Sanskrit between 1500 and 500 BCE in the northwestern region
the Indian Subcontinent. The Vedas were transmitted orally during the course of numerous subsequent generations
before finally being archived in written form. Not much is known about the authors of the Vedas, as the focus is
placed on the ideas found in Vedic tradition rather than those who originated the ideas. The oldest of the texts is
the Rig Veda, and while it is not possible to establish precise dates for each of the ancient texts, it is believed the

collection was completed by the end of the 2nd millennium BCE (Before Common Era).

There are four Indo-Aryan Vedas: the Rig Veda contains hymns about their mythology; the Sama Veda consists
mainly of hymns about religious rituals; the Yajur Veda contains instructions for religious rituals; and the Atharva
Veda consists of spells against enemies, sorcerers, and diseases. (Depending on the source consulted, these are

spelled, for example, either Rig Veda or Rigveda.)
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The Rig Veda is the largest and considered the most important of the collection, containing 1,028 hymns divided
into 10 books called mandalas. The verses of the Sam Veda are taken almost completely from the Rig Veda, but
arranged differently so they may be chanted. The Yajur Veda is divided into the White and Black halves and
contains prose commentaries on how religious and sacrifices should be performed. The Atharva Veda includes

charms and magic incantations written in the style of folklore.

Each Veda was further divided in two sections: the Brahmanas, instructions for religious rituals, and the Sambhitas,
mantras or hymns in praise of various deities. Modern linguists consider the metrical hymns of the Rigveda Samhita,
the most ancient layer of text in the Vedas, to have been composed by many authors over several centuries of oral

tradition.

Although the focus of the Vedas is on the message rather than the messengers, such as Buddha or Jesus Christ in

their respective religions, the Vedic religion still held gods in high regard.

The Aryan pantheon of gods is described in great detail in the Rig Veda. However, the religious practices and deities
are not uniformly consistent in these sacred texts, probably because the Aryans themselves were not a
homogenous group. While spreading through the Indian Subcontinent, it is probable that their initial religious

beliefs and practices were shaped by the absorption of local religious traditions.

According to the hymns of the Rig Veda, the most important deities were Agni, the god of Fire, intermediary
between the gods and humans; Indra, the god of Heavens and War, protector of the Aryans against their enemies;

Surya, the Sun god; Vayu, the god of Wind; and Prthivi, the goddess of Earth.
Question No. 20
The Atharva Veda consists of:

Options:

1. Instructions related to various sacrifice rituals.
2. Hymns about their mythology

3. Spells against enemies, sorcerers, and diseases.
4. Hymns about religious rituals.

5.

Answer : Spells against enemies, sorcerers, and diseases.
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e Question No. 21

The following contains pairs of words which are related to each other in a certain way. Three of the following four
word pairs are alike because they have the same relationship and thus form a group. Which is the word pair that

does not belong to that group?
Options:

1. superior - inferior
2. warm - cold

3. Rich - poor

4. tea - Coffee

5.
Answer : tea - Coffee

Direction:

Read the given statements and conclusions car efully. Believing that the infor mation given in the statementsistrue
even if it appearsto beat variance from commonly known facts, decide which of the given conclusions logically
follows from the statements.

e Question No. 22

Statement:

No musician is an architect.
All cricketers are musicians.

All players are architects.

Conclusion:

I. Some architects are cricketers.
IIl. No player is cricketer.
IIl. No musician is a player.

Options:
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1. Both conclusions | and Il follow.
2. Both conclusions Il and Ill follow.
3. Both conclusions | and llI follow.
4. Conclusions |, Il and Il follow.

5.

Answer : Both conclusions Il and 11l follow.

Question No. 23

In a certain code, if '&' means 'add’, '#' means 'multiply’, '@' means 'divide' and 'S' means 'subtract’. Find the value of

the following equation.
458355 (14#7)&63@9#55(14%1M) =72
Options:

1.17
2.27
ER

4.14

Answer : 14

Question No. 24

Six boxes named A, B, C, D, E and F are placed one above the other, but not necessarily in the same order. Box- A is
placed immediately above Box- F. Only one box is placed below Box-E. Only two boxes are placed above Box- F.
Only box-C is placed between box-F and box-E. Box- D is not placed immediately below box- E. Which box is placed

at the top?
Options:

1A

2.C
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3.B

4.D

Answer: D

e Question No. 25

Six symbols @, #, S, », & and * are written on different faces of a dice. Three different positions of this dice are

shown. Select the symbol which will be on the panel opposite to the one containing * symbol.

’-’AH‘H—_ .-f"fﬁh"'
A~ S f":;)l
x[#]||# [& |

1

Options:

-
r~,
-

g

1 &
2.7
3. #

4. @
5y

Answer : &amp;

e Question No. 26
Select the number from the given alternatives that can replace the question mark (?) in the following series.
198, 149, 113, 88, ?
Options:

1.74
2.68
3.72

4.70
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Answer : 72

Direction:

A group of numbersand symbolsis coded using the letter code as per the code given below followed by the
conditions. Study the given code and terms and answer the following question.

HJaEnvdia |4 |8
[ R |w

5 |6 |« |# (3 |% |@|8 a9 |+ |7
lE|P|J |H[L [N |B |C|F|U|T

Question No. 27

Conditions - (i) If the second element and the last element are perfect squares, then the second and last elements

are to be coded as ©.

(ii) If the first element is a symbol and the fourth element is a number, then the first element is to be coded as the

code of the fourth element.

(iii) If both the second and third elements are symbols, then the codes of these two (second and third elements)

will have to be interchanged.

What will be the code for the following group?
7$@54

Options:

1LMOBEO®
2MBFER
3.RWBER
4 MBWER

5.
Answer: MBWER

Direction:

In this question, one statement is given followed by two conclusions. Decide which of the two conclusionsis/are
correct?
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e Question No. 28

Statement: WS=U>B

Conclusion:
I.T

I.S>X
Options:

1. Only conclusion Il is correct

2. Only conclusion | is correct

3. Neither conclusion | nor conclusion Il is correct
4. Both conclusion | and Il are correct

5.

Answer : Neither conclusion | nor conclusion Il is correct

e Question No. 29

Select the alphanumeric group from the given options which can replace the question mark (?) in the following

series.
ZX1121, VT1242, RP1363, ?
Options:

1. LK1548
2. ML1648
3.JL1248
4.NL1484

5.

Answer : NL1484

e Question No. 30
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The figures given below show the sequence of folding a piece of paper and the method of cutting the folded

paper. What will the paper look like when it is opened?

N

155
A I]I:II:I[I

I:I[II:II:'
ag9]
[Zal
|1Ee]
[Toal

195]

11
2.2
3.3
4.4

5.

Answer: 4
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e Question No. 31

How many meaningful English words of at least four letters can be formed using the letters E, L, A, R and G, if each

letter is used only once in each word?
Options:

1. two

2. more than three
3.0ne

4. three

5.

Answer : more than three

e Question No. 32

Statement:

I. Cases of obesity, diabetes and other similar diseases are increasing.
II. Fast food also has very few antioxidants and less fiber.

Ill. Fast food is high in sugar, salt, processed ingredients and trans fat.
Options:

1. Statements | and Il are the causes and statement Il is the effect.
2. Statement | is the effect and statements Il and Ill are the causes.
3. No cause and effect relationship exists between the statements.
4. Statement | is the cause and statements Il and Ill are its effects.

5.

Answer : Statement | is the effect and statements Il and lll are the causes.

e Question No. 33

Select the option that most closely resembles the image formed in the mirror of the given combination.



D
L . : IXam
BSF Head Constable (Ministerial) 2023 Previous Year Paper 17-June-2023 (Shift-3)
— Prepare 5 0% Faster

A

94387 |

.¥843e
..Y8ERE
.9¢8EN

“.9¢38)

Options:

1.1

2.2
3.3
4.4

5.
Answer: 2

Direction:

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true,
even if it seems to be at variance from commonly known facts, decide which of the given conclusions logically

follows from the statements.

Question No. 34

Statement:

A. Some fish are birds.

B. No cat is bird.

Conclusion:

I. No bird is cat.

Il. Some birds are fish.

Options:
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1. Both conclusions follow.

2. Only conclusion Il follows.
3. Neither conclusion follows.
4. Only conclusion | follows.

5.

Answer : Both conclusions follow.

e Question No. 35

What will come in place of '?" in the following equation, if '+' and '+' are interchanged and 'x' and '-' are

interchanged?
56x16+8+6+2-3=7
Options:

1.39
2.63
3.6

4.66

Answer : 63

e Question No. 36

Select the option in which the given figure is embedded (rotation is not allowed).

0(6
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1.
A

2.
& y. OMO)]
4
Options:

1.1

2.2

3.3

4.4

5.
Answer : 2

e Question No. 37

Select the number from the given alternatives that can replace the question mark (?) in the following series.
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558, 556, 550, 538, 518, ?
Options:

1. 486
2.492
3.488
4.490

5.

Answer : 488

e Question No. 38

In a certain code language, 'CAD' is written as 314, and 'DIG' is written as '497'. How will 'BED' be written in that

language?
Options:

1.225

2.242
3.245
4.254

5.

Answer : 254

e Question No. 39

Select the figure from the options given below that can replace the question mark (?) and complete the pattern.

& sl@ % &
%" @& s@ %
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1: & $
% @
% $

2.

@ &
& @

3
S %
%

4.

7 8

Options:

1.1
2.2
3.3
4.4
5.
Answer: 4
Direction:

. 0D
|xam.@

—= Prepare 50% Faster

A group of numbersand symbolsiscoded using the letter codes as per the code given below followed by the

conditions. Study the given code and terms and answer the following question.

qEndle

6

$

&

2

@

8

#

3

%%

7

$c

G

T

F

K

B

z

Q

J

vV

e Question No. 40
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Conditions - (i) If the second element is a symbol and the fourth element is an even number, then the codes of

these two (second and fourth elements) have to be interchanged.

(ii) If both the first and fourth elements are odd numbers, then both of them (first and fourth elements) are to be

coded as.

(i) If both the second and third elements are symbols, then the third element is to be coded as the code of the

second element.

What will be the code for the following group?
8@#3%

Options:

1. ZPPQJ

2.ZQPBJ
3. ©BPOIJ
4.7BBQJ

5.

Answer : ZBBQJ

e Question No. 41
What is the ratio of the speeds of two cars, one of which travels at 60 km/h and the other at 5 m/s?
Options:

1.10:3
2.3:10
3.1:12
4.12:1

5.

Answer:10:3
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e Question No. 42

Eight years ago, a man's mother was three times the age of her son. After eight years, the mother's age will be

twice the age of her son. What is the ratio of their present ages?
Options:

1.7:3

2.4:7
3.2:7
4.

5.

Answer:7:3

e Question No. 43

In a right triangle, if the hypotenuse is 24 cm and the side opposite to the 30° angle is 12 cm, then what will be the

length of the side opposite to the 60° angle?
Options:

1.124/3
2.18
3.31/3
4.1/8

5.

Answer : 121/3

e Question No. 44

A train crosses a 120 m long platform in 5 seconds and a person standing on the platform in 3 seconds. Find the

speed of the train.

Options:
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1. 60 km/h

2.108 km/h
3.120 km/h
4.216 km/h

5.

Answer : 216 km/h

¢ Question No. 45
Find the area of the rhombus with diagonals 45 cm and 30 cm.
Options:

1. 575¢cm?
2. 475cm?
3.375cm?
4. 675cm?

5.

Answer : 675cm?

e Question No. 46

Rs. Find the compound interest on a sum of Rs 8,000 at 4% per annum in 2 years, the interest being compounded

half-yearly.
Options:

1. Rs.843.65
2. Rs.765.35
3.Rs.742.37
4. Rs.659.46

5.

Answer : Rs.659.46
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e Question No. 47

Forty nine persons are standing in a row and their average weight is 66 kg. If the average weight of the first 25

persons is 68 kg and the average weight of the last 25 persons is 64 kg, then find the weight (in kg) of the 25th

person.
Options:

1.66
2.65
3.67
4.64

5.

Answer : 66

e Question No. 48

A person travels to a certain place at a speed of 30 km/h and returns to the starting place at a speed of 20 km/h.

Find his average speed (in km/h) during the entire journey.
Options:

1.20
2.24
3.12

4.48

Answer : 24

e Question No. 49

In a triangle PQR, S and T are points on PQ and PR respectively such that ST is parallel to QR. If PS =16 cm, SQ =14
cm and QR =24 cm, find ST.
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Options:

1.10.6 cm
2.101cm
3.128 cm
4.123 cm

5.

Answer:12.8 cm

e Question No. 50

The price of cab fare is proportional to the distance covered. When the distance is 150 km, the price is ¥750. Find

the price when the distance is 225 km.
Options:

1.%1,125
2.31,130
3.31,135
4.31,120

D;

Answer : 71,125

e Question No. 51

Ashu makes a profit of 25% even after giving a discount of 18% on a shirt to his customers. What is the original cost

price of a shirt marked at ¥700?
Options:

1.3458.20
2.3456.20
3.3457.20

4.3459.20
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Answer : ¥459.20

e Question No. 52

The cost price of 20 articles is equal to the selling price of 25 articles. Find the loss percentage.
Options:

1. 50%
2.30%
3.10%
4.20%

5.

Answer : 20%

e Question No. 53

A tank can be filled in 7 hours but due to leakage at the bottom it takes 8 hours. If the tank is full, how much time

will it take to empty it through leakage?
Options:

1.30 hours
2.28 hours
3.56 hours
4.15 hours

5.

Answer : 56 hours

e Question No. 54

242 tanZ@
1+cotZ@

F A AT HIAT;, F&T 8 =G 2
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Options:

1.4/2cotD
2.2 cotll
3.4/2tan
4.2tanl

5.
Answer : /2 tanll

Direction:

Brand A

"

—

w2000 ®2001 =2012 & A13 e3014 = 2DIS

Brand A = @1 A

Brand B

40 a5
s “ 50
o
50 507
= 2010 = 2011 = 2012 2013 = 2014 = 2015

Brand B = &= B

e Question No. 55
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The following pie-chart shows the sales (in thousand units) of two brands A and B over a period of 6 years. Find by

what percent the sales of Brand B in the year 2013-2015 are more than the sales of Brand A in the year 2011-2013

(value rounded to two decimal places).

Options:

1. 410%
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2.5%
3.357%
4.2.60%

5.

Answer : 3.57%

Question No. 56

If the ratio of two numbers is 5:6 and their least common multiple (LCM) is 630, then find their greatest common

multiple (HCF).
Options:

1.16
2.24
3.18

4.21

Answer : 21

Question No. 57

A person spends 15% of his monthly income on house rent and 60% of the remaining on household expenses. If he

saves 33,400 per month, find his total income (in ¥) per month.
Options:

1.%10,000
2.7%9,500
3.39,800
4.31,000

5.

Answer : 310,000
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e Question No. 58

Which of the following is the condition where two lines ax + by + ¢ =0 and Ix + my + n = 0 will have infinite

solutions?
a b c
To. ‘eigl gl
1 m n
a b c
F .4 e e
1 1 1
a b c
3. He=napin
l m T
a b c
4, _ = — = —
m n

Options:

1.1

2.2

3.3

4.4

Sy

Answer: 4

e Question No. 59

If 72 votes are found invalid in an election between two candidates. If the winning candidate obtained 54% of the

valid votes and won by a margin of 96 votes, find the total number of registered voters.
Options:

1.1200
2.1472
3.1272
4.1300

5.
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Answer : 1272

e Question No. 60
Find the compound interest on ¥1,55,000 for 3 years at the rate of 10% per annum on annual basis.
Options:

1.¥52,305
2.351,305
3.351,308
4.351,306

5.

Answer : ¥51,305

e Question No. 61
Which of the following keyboard shortcuts is used to move up one paragraph in MS-Word 2019?
Options:

1. Ctrl + Down arrow key
2. Ctrl + Left arrow key
3. Ctrl + Up arrow key

4. Ctrl + Right arrow key

5.

Answer : Ctrl + Up arrow key

¢ Question No. 62
Which of the following keyboard shortcuts is used to open the print option in MS-Word 2010?
Options:

1.Ctrl+P
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2. Ctrl+D+P
At +F+K
4 Alt+D+P

5.

Answer : Ctrl + P

e Question No. 63
Which of the following keyboard shortcuts is used to open the print option in MS-Word 2010?
Options:

1LAt+D+P
2.Ctrl+P
3.Ctrl + D+ P
4. Alt+F+K

5.

Answer : Ctrl + P

e Question No. 64

In Windows OS, when you delete an item from any drive on your computer by using the Delete key or by simply

right-clicking and selecting the 'Delete' option, the file is moved to

Options:

1. Taskbar

2. Recycle Bin
3. Start menu

4. Control Panel

5.

Answer : Recycle Bin
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e Question No. 65

To select adjacent icons on the desktop, you have to pressthe _________ key and then click on the icons you

want to select.
Options:

1. Tab
2. Ctrl
3. Alt
4. Shift

5.

Answer : Shift

e Question No. 66

When an email is sent, it goestothe _________ belonging to the company that issued the email address.

Options:

1. mail server
2. client

3. group

4. network

5.
Answer : mail server

Direction:

Read this document carefully to observe its different categories of features applicable to different parts of MS-

Word (MS-Word 2010), and accordingly select the most appropriate option for the following question.
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e Question No. 67

How many drop caps are present in the above document?

Options:

1. five
2.three
3.two
4. Eight

5.

Answer : two

e Question No. 68

You can choose to create a

that will appear at the end of every email you send.

Options:

1. subject



ixam

2. attachment
3. signature
4. formatting options

5.

Answer : signature

e Question No. 69
WinZip software is an exampleof _________ software.

Options:

1. shareware

2. driver

3. programming
4. open source

5.

Answer : shareware

e Question No. 70
Which of the following options is not in the 'Proofing' group of the 'Review' tab in MS-Word 2010?
Options:

1. Comment

2. Word Count

3. Spelling & Grammar
4. Thesaurus

5.

Answer : Comment

e Question No. 71

0(6
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What is the full form of LAN?
Options:

1. Local Area Network
2. Limited Area Network
3. Large Area Network
4. Logical Area Network

5.

Answer : Local Area Network

e Question No. 72

To select adjacent icons on the desktop, you must pressthe _____ key and then click on the icons you want to

select.
Options:

1. Alt
2.Tab
3. Shift
4. Ctrl

5.

Answer : Shift

e Question No. 73

Which of the following is not a type of touchscreen monitor?
Options:

1. Capacitive
2. Resistive
3. Gas plasma

4. Surface acoustic wave
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Answer : Gas plasma

e Question No. 74

Which of the following options is not in the 'Proofing' group of the 'Review' tab in MS-Word 2010?
Options:

1. Thesaurus

2. Comment

3. Spelling & Grammar
4. Word Count

5.

Answer : Comment

e Question No. 75

In MS-Excel 2010, to print more than one worksheet, click the first worksheet, hold the

key on your

keyboard, and then click any other worksheets you want. Want to select.
Options:

1. Tab
2. Ctrl
3. Alt
4. Esc

5.

Answer : Ctrl

e Question No. 76

The output of an assembler programiscalled _______ relative to the input source program.



Options:

1. object program
2. bit code
3. byte code

4. source program

5.

Answer : object program

e Question No. 77

Which of the following keyboard shortcuts is used to move up one paragraph in MS-Word 2019?

Options:

1. Ctrl + Down arrow key
2. Ctrl + Up arrow key
3. Ctrl + Left arrow key

4. Ctrl + Right arrow key
5.

Answer : Ctrl + Up arrow key

e Question No.78

Which of the following is an example of an email address?

Options:

1. http://simple.com/index.htm
2. kidsmart@billme.com

3. D:\\Email Standard

4. children.org/teachers/mail addresses

5.

Answer : kidsmart@billme.com

ixam

0(6
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e Question No. 79
Identify whether the given statements regarding the characteristics of computers are true or false.
(@) Memory: Computer can remember data for us.
(b) No Intelligence Level (IQ): Computer does not work without instructions.
Options:

1. a) False b) False
2. a) False b) true
3.a) true b) False
4. a) true b) true

5.

Answer : a) true b) False

e Question No. 80
In MS-Word 2010, to open the Find (Navigation) pane, press ______ .
Options:

1.Ctrl+F

2.Ctrl + A
3.Ctrl +V
4.Ctrl+C

5.

Answer : Ctrl + F

e Question No. 81

Rabindranath Tagore Beach is the main beach in Karwar town, 50 kmbetween Goa.

Options:
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1. Before
2. Among
3.Under
4. Above

5.

Answer : Before

e Question No. 82
Select the number from the given options which will come in place of the question mark (?) in the following series.
15,16, 18, 21, 25, ?
Options:

1.31

2.32
3.29
4.30

5.

Answer : 30

e Question No. 83
Select the misspelled word.
Options:

1. Vaccuum
2. Scissors

3. Sufficient
4. Remaining

5.

Answer : Vaccuum
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e Question No. 84

Select the option which is related to the third word in the same way as the second word is related to the first

word.
Needle : Sewing :: Shield : ?
Options:

1. TBHT AT
2. AT
3. @eAr
4, dIRMET

5.

Answer : IPYT B

e Question No. 85
Answer the question given below on the basis of the given number and symbol series.
(left) 25# #S1@*7 & % 4 & 5% 3 & 512 (right)

How many such symbols are there which are immediately preceded by a number and immediately followed by a

number?
Options:

13

2.4
3.2
4.1

5.

Answer : 3

e Question No. 86
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From the given options, select the alphanumeric group which will come in place of the question mark (?) in the

following series.
13, H7, F15, C27, Y43, ?
Options:

1. U63
2.559
3.T65
4.7T63

5.
Answer : T63

Direction:

Below are given some parts of a sentencein jumbled order. Arrangethe partsin the correct order to make a
meaningful sentence.

e Question No. 87
A. his subjects wisely
B. was a very kind and generous
C. king who looked after
D. everyone said that he
Options:

1. CBAD
2. DACB
3.DBCA
4. CABD

5.
Answer : DBCA

Direction:
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Read the following statements and answer the questions given below.

Question No. 88

A+B means A is father of B.

A-B means A is brother of B.

A*B means A is the mother of B.

A&B means A is sister of B.

Which of the following means that T is maternal uncle/aunt of V?
Options:

1. T-R&S*V
2. V*S*R+T
3. T+S*R-V
4. V&R&S-T

5.

Answer : T-R&amp;S*V

Question No. 89

In a certain code language, THANKS' is coded as 'TLOBIU' and 'PLANES' is coded as 'TFOBMQ'. How will 'AIRBUS' be

coded in that language?
Options:

1. TVCBIJS
2.TVCSJB
3. TVCQHZ
4. TVCSBJ

5.

Answer : TVCSJB



0D
ixam Pees @

e Question No. 90

If the following words are arranged according to their order in the English dictionary, which of the following words

will come first?
1) Theftable

2) Thearchic

3) Theatrics

4) Theaceous
5) Theberges
Options:

1.5
2.2
3.3
4.4

5.

Answer: 4

e Question No. 91

A, B, C, D and E are five students who got different marks in XYZ Olympiad. B got more marks than A and C. E got

more marks than B and D. D got more marks than C who got less marks than A. Which student among the five has

got the lowest marks?
Options:

1E
2.A
3.B

4.C
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Answer: C

e Question No. 92
The teacher was extremely angry on the boys who had thrown stones at the dogs.
Options:

1. over

2. around
3. with

4. along

5.

Answer : with

e Question No. 93
Ramesh's age is twice the age of Seema and half the age of Soham. Seema is elder than Mohan. who is the tallest?
Options:

1. Ramesh
2. Limit

3. Mohan
4. Soham

5.

Answer : Soham

e Question No. 94
If A means 'x', B means '+, C means '-' and D means '+, then find the value of the following.

5D16A5B8CS8
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Options:

1.7
2.5125
3.85

4.2.625

Answer:7

e Question No. 95

Select the option that indicates the correct arrangement of the given words in the order in which they appear in

the English dictionary.

1. Mitzwah, Minxish, Mikvoth, Mikvehs
2. Minxish, Mikvoth, Mikvehs, Mitzwah
3. Mitzwah, Mikvoth, Mikvehs, Minxish
4. Mikvehs, Mikvoth, Minxish, Mitzvah
Options:

1.2
2.4
3.3
4.1

5.

Answer : 4

e Question No. 96

Pointing to a girl, Akash said, “She is the daughter of the only child of my grandmother.” How is that girl related to

Akash?
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Options:

1. niece

2. Daughter

3. data is incomplete
4. Sister

5.

Answer : Sister

e Question No. 97

In the word 'BOTANY"' each consonant is replaced by the letter following it in the English alphabetical order and

each vowel is replaced by the letter preceding it in the English alphabetical order. Which of the following letters

will appear twice in the letter group thus formed?
Options:

1.U
2.7
3.N
4.C

5.
Answer:Z

Direction:

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true,
even if it seems to be at variance from commonly known facts, decide which of the given conclusions logically

follows from the statements..

e Question No. 98

Statement:

A. Some elephants are whales.
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B. Some fish are giraffe.

C. All giraffes are lions.

Conclusion:

() Some fishes are whales.

(Il) Some lions are fishes.

(Ill) Some elephants are giraffes.
Options:

1. none of the conclusions follow

2. Only conclusion Il follows

3. Only conclusion | follows

4. Either conclusion | or conclusion Il follows

5.

Answer : Only conclusion Il follows

e Question No. 99

Find the missing number (?).

p 48 36 23 41 i |
5 2
1
Options:
1.7
2.8
3.3

4.2
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Answer :7

e Question No. 100

If the positions of the first and third digits of each number are interchanged, which of the following numbers will

be the largest number?
(a) 358 (b) 369 (c) 489 (d) 527 (e) 925
Options:

1A
2.B
3.C
4.E

5.

Answer: C
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